Chemistry 120
Rio Hondo College
Fall 2017 Exam 2

Exam #1 — 100 points
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Directions: Answer each question below to the best of your ability. Show all work where
calculations are required. An information sheet with a periodic table is attached to the

back of the exam; you may remove it if you wish.

1. (2 each) Provide the correct

formula for each compound
named below.

2. (2 each) For each formula below, provide the correct name
gf the compound. Only provide one name where more than
one is possible,
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3. (3) Provide the chemical formula for following pairs:
a. magnesium and peroxide ion: \mg\)()gf

b. mercurous ion and thiocyanate ion: \/\9)7 CEC‘\XXZ
PR

c. three nitrogen atoms and one sulfur atoms:

4. (4) List the formulas of the seven elements that occur as diatomic molecules in order

of greatest to greatest elactronegativity.
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5. (7) Provide an electron configuration for each element below. You may use the Nobe]
Gas core if you prefer.
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6. {5) Draw the atomic orbital diagram in the correct format for the ion in the 6! period
with Z = 79 and 77 electrons
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7.(10) A leak in the air conditioning system of an office building releases 12 kg of CHFCI
per month. How many kilograms of Cl will be emitted into the atmosphere each year?
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8. (6) A chemist determines that 1.26 g of iron reacts with 0.54 g of oxygen to form rust.
What is the percent composition by mass of each element in the new compound?
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8. For each box below

a. (2) Draw the Lewis Structure for the given formula. There is only one central atom in

each compound.

b. (1) Provide the name of the shape/molecular geometry of the molecule.
c. (1) Provide the approximate bond angle about the central atom.
d. (1) Determine whether or not the molecule has a molecular dipole, then circle “yes”

or “no” to indicate your choice.
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9. (9) Butanedione, a component of butter and body odor, has a cheesy smell.
Elemental analysis of butanedione gave the mass percent composition: C, 55.80%; H,
7.03%; 0, 37.17%. The molar mass of butanedione is 86.09 g/mol. Determine the
molecular formula of butanedione.
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